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1.3, 13 3,
(Z+§)+§(§ (5))

L1, 21 1,
(§+§) §(€+(§))
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1, 3.3 3 3, 5853 453 1 1, 21 1, 8
Yy x 2 (2 + 2P = (- = (66— RS2 (2P = 2
((4) Z)X 2 (2 5) ( 800 )= 6800) (2 2) 5(6 (3) ) 9
1 3, 13 3, 139 303, 21 1. 2
22 (2= (D))= 2 2oy S y=(-2
(4 5) 2(2 (2)) 400 (5 5) 3(6 2) ( 9)

1 1, 33 1. 173 3, 1 1, 143 68
Sr R -2(2-)= 2 Sl Cx == (12
(3 3) 5(5 2) 450 S 5) 3 2>< ( 75) ( 75)
1 3, 31 1 3 3 1, 1.1 1 121

(4 4) 2(6 2) ( 4) (4 5) 5(2 2) 400

1 1, 1.1 2, 37 1, 1.1 1 1, 29

(3 2) 6(5 (3)) 540 ((2) 3)X 2 (2 6) 72
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